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You scored 0 out of 100

Question 1

You did not answer the question.

Express the curve by an equation in x and y.

o @ 3p=(x+3)°

. 2

b) Dr=ip—13)
, 2

V) Bp=(x—2]

1 2
r=—(y—3)
d) 3

. 2
o) x=(p—51"+9

Question 2

You did not answer the question.

Express the curve by an equation in x and y.

oo IF 165 =12
o 9% — 167 =12
oo 1657+ 0y =144

oo 167 -0y =144

Quiz 8

x(t) =t
P =3t+5

xit) =494 cos(t)
F(t)=73=mn(1)



o0 0+ 16y =144

Question 3

You did not answer the question.

Express the curve by an equation in x and y.
H
x(t)=¢g

plt)=5—&

H

3
a) y=5+x x>0

3

by 0 F=ITE asg
3

) x=>5—y ,X>0

3
d) I=5+l]r‘ X<(

k)

2
e) F=54+x X<

Question 4

You did not answer the question.

Express the curve by an equation in x and y and identify the correct sketch of the curve: (3+31,5—061) ,0<<2.



a)

p=-11+2x.
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0 rF=17—-4x
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o) r=11-2x

Question 5

You did not answer the question.

1
— T
Express the curve by an equation in x and y and identify the correct sketch of the curve: (3 SEC(F), Stan(t)] o<< 4
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o 1+25_}=—gx. -5
Question 6

You did not answer the question.

A particle with position given by the equations x(¢) = 7 Si.'ﬂl{ im I} , (D) = 7 ':':'S{ im I} I E [0, 1] starts at the point (0, 7) and

2 2 .
traverses the unit circle +Fy = 49 once in a clockwise manner. Write equations of the form II:I:I =f (” ¥ (Ij =E LI:' s

1= [0, 1] 5o that the particle begins at (0, 7) and traverses the circle once in a counterclockwise manner.

a) x(t)z"?siniﬁm} (= -Tcos(2mt)
b @y T oos(2mt) ., 7sin(2r2)
o Wxp= "7 sin(2mt) = "7 cos(2mt)
d) x(t)=?'cns|[2?1:r} ’y(t)z?'sjnl[ﬁnr}

e xty= ! sin(2mt) ’y(t)z?cnsum:r}

Question 7

You did not answer the question.

Find a parametrization x = x(f) , y = y(¢) , e [ 0,1 ] , for the line segment from (7, 9) to (4, 10).



x(t)=T+3I’y(t)= 5'—!.‘

a)

O Do T+ O+t

()=

d) x(t)z?—r’y(t)=9+31f

e) x(t)z?—ﬁi’y(t)=9+r

Question 8

You did not answer the question.

Find an equation in x and y for the line tangent to the curve at 1=13
x(t

(t)=t—2
yi) =t

)
()
a0 10814459+ =0

by & T+ 135—p=10

o -108x— 27 +p=0

@ 0 10Bx— 27 —p=0

o 108x—27+p=0

Question 9

You did not answer the question.

Find an equation in x and y for the line tangent to the curve at 1=3
) 2
rit)=—
(1) =3

p(t) =t —2

-fr+ —=10
a)



dr+ —=10
¢ 9
20 2
fr——+ —yr=I
d) o o
43 1
ir— —+ —p=I0
o) o 9

Question 10

You did not answer the question.

1
H=—T
Find an equation in x and y for the line tangent to the polar curve at 4 .

r=11cos(2 8)
a) r—11=0
o F=ix—11
a o F=x+1l

e) y=-1i

Question 11

You did not answer the question.

Parametrize the curve by a pair of differentiable functions x = x(7), y = y(f) with [x ‘(t)]2 + [y ‘(t)]2 ¥ 0, then determine the tangent line at the
orgin.

y=-2x

o o x(1)=-11 = —-1
b) I[I]=r’y[rj=—21‘

) x(t) =t ,_}’(I:I=—2I ;tangentlinex=l:|

d) I[I:I=I’}’|:I:I=—EI ;tangentlinex=|:I



3
e o x(t)=-2¢ ’.P':I:'=r;tangentliney=n

Question 12
You did not answer the question.
Find the points (x, y) at which the curve has a horizontal tangent.

x(t)=5—2zn(t)
F(1)=353+ 6 coz(1)

a) 0 (35 2) g (2,5)

and
by @ (5:3) g (-2.-5)
9@ (511 4 (5.-1)
oo 4 -3) 4 (39)

o 0 (1) g (4 3)

Question 13
You did not answer the question.

Find the points (x, y) at which the curve has a horizontal tangent.
x(t) =t — 5¢
plt)=f — 35— 241t

a) | (28,14) and (-80,-4)
b) " (-6.0) and (4.0)
©) ' (0-6) and (0.4)
d) © (14,28) and (-4,-80)
€) " (50)and (-5,0)

Question 14

You did not answer the question.

Find the points (x, y) at which the curve has a vertical tangent.
x(t)=2— 3 sin(t)
F(t)=2+ cos(t)



(2, 3) g (3. 2)

a) and
by o (L=4) g (4 2]
o0 (24) (-3, -)
o0 (71,2) 4 (5,0)

o 0 (Ld) g (5. 4)

Question 15

You did not answer the question.

Find the points (x, y) at which the curve has a vertical tangent.

xit) =F — 2t
plt)=F —4F+1
a) (-1, -4)
by o (-1,-2)
1
-, -1
¢ [ 2 J
a o (-4,-4)
e) (-2, -Z)
Question 16
You did not answer the question.
Find the length of the graph.
Jlx)j=5x+4
x e [0,2]



4
- . Eﬁ
e) 30

Question 17

You did not answer the question.

Find the length of the graph.
70 =5 —n(x)
re [1,5]

a)

b 0 9+ 3Mn(5)

©)

o 0 I+m(s)

o & 6+2In(5)

Question 18

You did not answer the question.

The equations below give the position of a particle at each time 7 from =0 to 7= ™ _ Find the initial speed of the particle, the terminal
speed, and the distance traveled.

x(t) =10 € sin(2)
p(t)=10 € cos(t)

I|_ I|_ T I|_ _ T
a) ' initial speed = a4z , terminal speed = ay2e ; distance traveled = 042 l[ L+¢ }
2':' = EI:I =
/2 — 2 ¢ — P
L} A i -
b) " initial speed = , terminal speed = 3 ; distance traveled = 1y l{ I+e }
0,7 10,7 & 107 (-1+ &)
©) initial speed = N , terminal speed = N ; distance traveled = A



d) 5 I'IT 5 I'IT E:n: 5 -.‘I'IT f -1+ E:n:}

initial speed = = ¥ , terminal speed = ~ ™ ; distance traveled =

o 157 157 & 107 (-14 &)

initial speed = , terminal speed = ; distance traveled =

Question 19

You did not answer the question.

Find the length of ¥ = 2 from % =010 % = 470

a) Bm
b) 4m
2a
©) 3
d) 12m
o) fm
Question 20

You did not answer the question.

Find the length of r=21+2 EEISI:Ei} from ¥ =0t0 =T

o o 12
b @
16
on 3
R

e) B



